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Answer Key to Bac National Exam 2015 / Normal Session /Humanities Stream

By Teacher Houmad

I.Comprehension:

A. 1. False “marriage to a minor requires a judge’s permission.”

2. True, “ She was badly treated by her husband.”

B. 1. to draw the government’s attention to the pain of child brides.

2. She went to the court and demanded her freedom

3. because she was too young.

Causes of child marriage

tradition

poverty

D.1...tostayat illiteracy

home unmarried.

2. ....lost hope and demanded divorce.

E. 1. Child marriages / marriage of under-age girls 2. Morocco

Consequences of child marriage

mother mortality
divorce
domestic violence

3. Parents

F. 1. pain 2. demanded

G. 3) The writer is against child marriage

Il. Language:

1. rural 2. health
1. violation 2. wealthy
tostart - raising

1. If Malika’s father hadn’t lost his job, she wouldn’t have dropped out of school.

2. Financial assistance was offered by the government to small businesses.

3. Siham advised me to change the PIN code from time to time.
E. 1. where 2. whose

F. 1. d) complaining 2. a) certainty

G. There may be more than one possible answer. These are just examples.

1. Could you please clarify the word “matrimony”?
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2. In my point of view, computers will never be able to replace teachers.




